1210983 (K12n0288)

C/K\’ Linearized knot diagam
N ' ( N
Xt 8
Y,
| Solving Sequence

5,8*9,11)12%4—»7~>3—>6~>2—>1%10%65,09,012
Cg €11  C4 Ccr Cc3 Ce C2 1 €10

A knot diagranﬂ

Ideals for irreducible component#ﬂ)f Xpar

I = (7.99341 x 103932 — 1.73952 x 10%%3! + ... 4+ 6.21714 x 10*?b — 7.27832 x 10*?,
—2.58634 x 1049432 4+ 4.38348 x 10%0u3! + ... +1.24343 x 10*3a — 5.01178 x 102,
u?? —u? 4+ 1024u + 512)

IV = {(a, 3v° + 2v* + 150% + 2002 + 70 + 120 — 3, v° +0° + 501 + 903 + 502 + v 4+ 1)
II={(a, ¥ =>4+ 1, v—1)

* 3 irreducible components of dim¢ = 0, with total 42 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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L I} = (7.99 x 10%°4®? — 1.74 x 10*%%>' + ... 4 6.22 x 10%b — 7.28 x
1042, —2.59 x 10%%u32 + 4.38 x 1049431 4 ... + 1.24 x 10*3a — 5.01 X
1042, 433 — 43?2 + ... +1024u + 512)

(i) Arc colorings

o (1)

ag =
ag =

0.00208001u32 — 0.00352532u3 + - - - + 1.78233u + 0.403062)
ayil =

—0.00128571u32 + 0.00279794u3! + - - - + 1.28986u + 1.17069

0.000794299u32 — 0.000727383u3 + - - - + 3.07219u + 1.57375)

a12 = \ —0.00128571u32 + 0.00279794u3! + - - - + 1.28986w + 1.17069

—0.00110615u3% + 0.00221831u3! + - - - 4 0.260315u + 0.865237
0.00241977u3? — 0.00321235u3! + - - - + 4.09026u + 0.856393

0.00164230u3? — 0.00102508u3! + - - - + 3.66559u + 0.647992 )

a7 =
az = \ —0.000789549u3? + 0.00155917u3 + - - - + 1.76057u + 0.378455

—0.00110615u32 4+ 0.00221831u3! + - - - + 0.260315u + 0.865237
0.00119835u3? — 0.0000262335u3! + - - - + 4.66276u + 1.42582

0.00204624u3? — 0.0000326376u31 + - - - + 6.09887u + 1.29264
—0.000664888u32 + 0.00290411u3! + - - - + 4.32183u + 1.50071

0.00230450u32 — 0.00224455u3! + - - - + 4.40244u + 0.560582
0.00119835u32 — 0.0000262335u31 + - - - + 4.66276u + 1.42582

—0.000739170u32 — 0.0000503781u3! + - - - — 1.45933u + 1.00366
a10 =\ —0.00132594u32 + 0.00245141431 + - -+ — 0.697988w + 1.25243

ag —
a9 =

(
(
(

(
w=(w)
(

(

(

(

(

a

=

(ii) Obstruction class = —1

(iii) Cusp Shapes = —0.0223829u32 + 0.0292513u3! + - - - — 14.9362u — 3.65393



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,Cq B+ 6uP 4+ 2u+1
€2, Cs uB 4wt 4 2u 1
€3 u? — 4P + -+ + TT426u + 5953
4,08 u — w2 4 410240 + 512
c7,C11 P 4P+ 2u+1
€9 u¥ 4+ 4?4 - 18u 1
€10, C12 u — 140 + - 4+ 500 — 1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,Cq Y33 44652 + - + 66y — 1
C2,C5 y33—6y32+-~-—|—2y—1
€3 y* + 130y°2 + - - - + 1530880802y — 35438209
c4, Cg Y33 4+ 49932 + ... — 917504y — 262144
7, c11 y*? — 14y*? 4+ - 450y — 1
Co y*3 = T0y%2 -+ 290y — 1
€10, C12 y*3 + 14y + ..+ 1938y — 1




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1 (vol + y/=1CS)

Cusp shape

u = —0.259194 4 0.9380831
a= 1296390 — 0.4186311
b = —0.842802 + 0.4975181

—1.68399 — 2.041321

—4.24848 - 3.692591

u = —0.259194 — 0.9380831
1.296390 + 0.4186311
b= —0.842802 — 0.4975181

—1.68399 + 2.041321

—4.24848 — 3.692591

u = —0.299553 + 0.9825841
0.491758 — 0.0710671
b= —0.276643 — 0.5783011

a =

1.95211 + 1.673581

—0.85105 — 3.687391

u = —0.299553 — 0.9825841
= 0.491758 4+ 0.0710671
—0.276643 + 0.5783011

1.95211 — 1.673581

—0.85105 + 3.687391

= —0.819751 + 0.6423901
= —1.19497 + 1.764831
= 0.940469 + 0.2884111

4.57287 — 1.928341

2.42456 — 1.902941

= —0.819751 — 0.6423901
= —1.19497 — 1.764831
= 0.940469 — 0.2884111

4.57287 4 1.928341

2.42456 4 1.902941

= 0.906320 + 0.1612541
= —0.342325 + 1.0046801
0.936395 + 0.6633891

—1.64047 + 4.334661

—2.39244 — 5.765201

0.906320 — 0.1612541
—0.342325 — 1.0046801
0.936395 — 0.6633891

—1.64047 — 4.334661

—2.39244 4 5.765201

—0.138715 4 1.0761001
= 0.343138 — 0.3146621
—0.540873 + 0.6460971

0.99056 + 3.010551

—2.29192 — 3.361521

—0.138715 — 1.0761007
= 0.343138 4+ 0.3146621
= —0.540873 — 0.6460971

0.99056 — 3.010551

—2.29192 + 3.361521




Solutions to I}

V=1 (vol + y/=1CS)

Cusp shape

= —0.820423 + 0.2417341
= —0.127283 + 1.0972001
0.790989 + 0.6483021

—2.09854 + 0.792041

—4.42932 + 0.292171

—0.820423 — 0.2417341
—0.127283 — 1.0972001
0.790989 — 0.6483021

—2.09854 — 0.792041

—4.42932 — 0.292171

0.588887 + 0.4527341
1.005150 + 0.0390631
—0.876518 — 0.152706.1

1.49526 + 0.331331

5.50598 — 0.362891

0.588887 — 0.4527341
1.005150 — 0.0390631
—0.876518 + 0.152706.1

1.49526 — 0.331331

5.50598 + 0.362891

1.103600 + 0.6816101
—1.01014 — 1.303751
1.017310 — 0.3607481

5.11059 — 4.160821

2.72191 + 5.859601

1.103600 — 0.6816101
—1.01014 + 1.303751
1.017310 + 0.3607481

5.11059 4 4.160821

2.72191 — 5.859607

—0.020434 + 1.3990201
1.58993 + 0.379081
—1.035370 4 0.5805121

2.46612 — 7.837281

0.08663 + 7.578671

—0.020434 — 1.3990201
1.58993 — 0.379081
—1.035370 — 0.5805121

2.46612 4 7.837281

0.08663 — 7.578671

—0.023074 + 0.4985581
—0.216617 4 0.9059471
0.878924 + 0.7693821

—3.74171 + 2.901671

6.31914 — 4.625451

= —0.023074 — 0.4985581
—0.216617 — 0.9059471
0.878924 — 0.7693821

> Q@ €| & €|l & €| & €| Q& & & 8| & 8|l & 8|l & 8| & &g
|

—3.74171 — 2.901671

6.31914 4 4.625451




Solutions to I}

V=1(vol + y/=1CS)

Cusp shape

0.38369 + 1.474411
a= 1.321050 — 0.2198401
b= —1.068020 — 0.4926051

u =

4.14146 + 2.520911

3.12902 — 2.101651

u= 0.38369 — 1.474411
a = 1.321050 4 0.2198401
b = —1.068020 + 0.4926051

4.14146 — 2.520911

3.12902 4 2.101651

u = —0.379202
a= 1.20462
b= 0.150542

—0.908337

—11.6530

u = —0.43213 + 1.918281
a = —0.064840 4 0.127886.1
b= —0.511933 4 0.9571211

11.27410 + 6.042971

u = —0.43213 — 1.918281
a = —0.064840 — 0.127886.1
b= —0.511933 — 0.9571211

11.27410 — 6.042971

u= 0.27574 +1.974481
a = —0.016267 — 0.1411011
b= —0.473285 — 0.9594661

11.52690 + 0.813161

uw= 0.27574 — 1.974481
a = —0.016267 4 0.1411011
b= —0.473285 + 0.9594661

11.52690 — 0.813161

u= 0.66557 + 1.971081
a= 1.118020 4+ 0.8480151
b= —1.143380 4 0.7009411

13.2296 — 12.11291

u= 0.66557 —1.971081
a= 1.118020 — 0.8480151
b= —1.143380 — 0.7009411

13.2296 + 12.11291

u = —0.53201 + 2.074411
a= 1.114790 — 0.7645031
b= —1.158540 — 0.6813771

13.6520 + 5.18931




Solutions to I}

V=1(vol + y/=1CS)

Cusp shape

= —0.53201 — 2.074411
1.114790 + 0.7645031
—1.158540 4 0.6813771

13.6520 — 5.18931

0.11108 + 2.304791

1.288010 — 0.0188771

18.1642 — 3.54861

= 0.11108 — 2.304791
= —1.410100 + 0.0477941

]
a
b
]
a = —1.410100 — 0.0477941
b
]
a
b= 1.288010 + 0.0188771

18.1642 + 3.54861




II.

I? = (a, 3v°+2v*+15v3 42002+ 7b+12v—3, vé+v5+50*+9v3 502 +v+1)

(i) Arc colorings

o ()

1
ag = 0
1
ag = 0
0
o= {07 = Bt oo ot
,%v5,%v4+...71721}+%
a2 = \—20% = 2ot 4 = 2ot 3
v
Ay = 0
1
ar = —%vs—%v‘l—i—-- —31}—%
IR s
as = —%v5—|—%v4—|—~-—|—1—72v—%
—%vs—2v3+~-~+%v+%
a6 = —705—%1)44----—31}—%
_lb 24 2,8
175 +57f M +267U Y
AN LA S s o ol
(0430t 0)
= | 5,534 4
ai ?’U —‘r?’l} ++3’U+?
S+ 2t 4. 30+ B
a0 =\ 205 + Lot + -+ 2o +2

(ii) Obstruction class =1

(iii) Cusp Shapes = 5v° + 2v? + 1803 4 12942 4 20, — 28



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossin
Yy
€1, €3 Co (u? —u® + 2u— 1)
C12
2 2
C2,C11 (u3+u — 1)
Cy4,C8 UG
3 2 2
cs, C7 (u” —u”+1)
3 2 2
C6,C10 (u +u +2u+1)
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C3,Cg (y3+3y2+2y_1)2
€9, C10, C12
@O (P -yt 2y - 1)
C11
Cq,C8 316
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(vi) Complex Volumes and Cusp Shapes

Solutions to I7 V—1(vol +/—1CS) Cusp shape
v = —0.947279 + 0.3204101
a= 0 —5.656241 | —0.41065 + 5.958891
b= 0.877439 — 0.7448621
v =—0.947279 — 0.3204107
a= 0 5.656241 | —0.41065 — 5.958891

b= 0.877439 + 0.7448621

v = 0.069840 + 0.4244521
a= 0
0.877439 — 0.7448621

—4.13758 — 2.828121

—13.82394 4 1.307141

v=0.069840 — 0.4244521

—4.13758 4- 2.828121

—13.82394 — 1.307141

4.13758 — 2.828121

—0.76541 + 4.651751

a 0

b= 0.877439 + 0.7448621
v= 0.37744 4 2.293871
a = 0

b= —0.754878
v=0.37744 — 2.293871
a = 0

b= —0.754878

4.13758 + 2.828121

—0.76541 — 4.651751
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III. I? = {a, b3 —b* +1, v —1)

(i) Arc colorings

1

ar =
az =

ag =

(ii) Obstruction class =1

(iii) Cusp Shapes =0
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing

c1,C3,C

1,€3,¢9 u3_u2+2u_1

C12

C2,C11 u3—|—u2—1

Cy4,C8 u3

Cs, C7 ud —u? +1

3 2
C6,C10 u’+u+2u+1
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C3,Cg y3+3y2+2y_1
€9, C10, C12
C2,C5,C7 y3_y2+2y_1
C11
Cq,C8 313
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(vi) Complex Volumes and Cusp Shapes

Solutions to 1Y vV—=1(vol + /=1CS) | Cusp shape

v = 1.00000
a= 0 0 0
b= 0.877439 + 0.7448621
v = 1.00000
a= 0 0 0
b= 0.877439 — 0.7448621
v = 1.00000

= 0 0 0
b= —0.754878
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IV. u-Polynomials

Crossings u-Polynomials at each crossing
“ (u® —u? +2u —1)*)(u®> + 6u? + -+ 2u+ 1)
€2 (® +u? = 1)) (u* + 40 + - + 2u+ 1)
€3 (u —u? +2u — 1)) (u®® — 4u3? 4 - - + T7426u + 5953)
C4yC8 u? (U —u? 4 4 1024u + 512)
€5 (® —u? + 1)) (u* + 40 + -+ 2u+ 1)
Co (ud +u? 4+ 2u+ 1)) (u® + 6u? 4+ -+ 2u+ 1)
¢y (0% = u® + 1) (@ — 4% 4 -+ 2u+ 1)
Co (u® —u?+2u— 1)) +4u®? + - —18u + 1)
10 (u +u? +2u+1)%)(u®® — 14032 + - 4 50u — 1)
c11 (u® 4+ u? = 1)) (W —4u®? 4+ 2u+1)
C12 (u® —u? 4+ 2u — 1)) (u® — 146 + - + 50u — 1)
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V. Riley Polynomials

Crossings Riley Polynomials at each crossing

c1, ¢ (y° + 3y + 2y — 1)®)(y* + 46y + - - + 66y — 1)
c2,C5 (=9 +2y — 1))y —6y™ + -+ 2y — 1)

c3 (v* +3y° +2y — 1)°

(1% +130y%2 + - - - + 1530880802y — 35438209)

C4, €8 y? (y* +49y* + -+ — 917504y — 262144)
e, C11 (v° —v* +2y — 1)) (> — 14y + -+ 50y — 1)

€ ((v* +3y* + 2y — 1)°)(y*° — 70y + - - + 290y — 1)
€10, C12 (v +3y% 4+ 2y — 1)) (v + 1492 +--- + 1938y — 1)
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